M-19007-MV
2022MY Maverick
FORrRD PERFORMANCE | Maverick Chase Rack Kit

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF
FORD PERFORMANCE PARTS © Ford Motor Company 2020

PRIOR TO INSTALLATRIBSAD THEEHINSTRUCTIOBIOMPETELY
For questions Gall the FORD PERFORMANKeEhIine 1-800-367-3788

Please visitittps://www.performanceparts.ford.com for warranty information

4,8x19 Phillips Bolt M8x2,0x24 Flat Washer Right Front Bracket Extender

2 12 2
M6x1,00x30 Hex. Bolt 4,8x28 Plastic Washer Left Front Bracket 2" Light Bar

4 2
M8x1,25x20 Hex. Bolt Right Front Lock Entender Bracket

16

M6x1,6x14 Flat Washer Left Front Lock EVA Front Bracket

4
M8x17 Flat Washer Rear Lock EVA Extender Bracket

Torquemeterwith10y 13

Phillips Wrench Wrench10y 13

Ford Factory Shop Manual purchase options www.motorcraftservice.com

IS M-1900#MV 012523

Techline 1-800-367-3783 Pagel of 3



http://www.motorcraftservice.com/
https://www.performanceparts.ford.com/

FORD PERFORMANCE

M-19007-MV
2022MY Maverick

Maverick Chase Rack Kit

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF

FORD PERFORMANCE PARTS © Ford Motor Company 2020

INSTALLATION INSTRUCTIONS

A

- This accessory has an aesthetic purpose and is merely decorative.
Use in load and traction application situations is not recommended.

1 Repeat the steps on the other side of the vehicle.

3

ASSEMBLY WITHOUT BED LINER

S A
g
D %f_:..-"“ WITH BED LINER
7 %
ﬁ?"‘a‘-

C]

™,

-

LET THE BRACKET LEAN ON
THE BED.

& : CUT OUT THE BED LINER TO

Ford Factory Shop Manual purchase options www.motorcraftservice.com

Techline 1-800-367-3788

Page2 of 3 IS M-19007MV 012523



http://www.motorcraftservice.com/

 Tord

M-19007-MV
2022MY Maverick

FORD PERFORMANCE | Maverick Chase Rack Kit

NO PART OF THIS DOCUMENT MAY BE REPRODUCED WITHOUT PRIOR AGREEMENT AND WRITTEN PERMISSION OF
FORD PERFORMANCE PARTS © Ford Motor Company 2020

Ford Factory Shop Manual purchase options www.motorcraftservice.com

Techline 1-800-367-3788

Page3 of 3

IS M-1900#MV 012523



http://www.motorcraftservice.com/

